SPECIFI
ITEM NAME CATION QTY PIC
PLASTIC PLASTIC BALL CLIMBER 1
BALL 1 BOLT M10x40 15
CLIMBER| 2 WASHER M10 30 ﬂ
3 [SPRING WASHER| M10 15
4 LOCK NUT M10 15
REMARK PLASTIC BALL CLIMBER INFOOT

PLASTIC CLIMBER

PLASTIC CLIMBER




SPECIFI
ITEM NAME CATION QTY PIC
PLASTICBIASTTC BALL CLIMBER INFOOT 1
BALL 1 BOLT M10x40 6
CLIMBER
NEooT |2 WASHER M10 6 ‘ﬂ
REMARK PLASTIC BALL CLIMBER INFOOT

POST IN GROUND MOUNTING




